THN4(2022)F B JKEHE #KIRKDKEOKERKBERESR)

[BExEH4A] [(BXEH4A] [BxEH4]

40 - 501 {EREER 40 - 502 fEEE 40 - 503 fEREE

KB B EmLEKEREE BRI XK ESER

[#Ki;H4&] 01 - 00 [§Kiz&] 01 - 00 [%Ki;H4&] 01 - 00

1T:::b) ST 3Gl FiAREKE 4885 KE

BEIEH [KiR&] [KiE&] [kiFE&]

ITE: U AENKRHEZN gt |

[FkDFE$E] [FRKDFELE] Rk DFEEE]

NLEE HLRBGR-S LEE-EZFFK MK (BIR) -5 LR

[1BFEHKE] 16,104 (m) |[[1 B F 5K E] 101,403 (m) |[1 B F95KE] 205,490 (m)

faok4zok LAY #a7k4z sk

1) =IE T E1% bl =xIE Ty Bl xm =IE T Ik

PUOFEVRUZVILEY <0.0010  <0.0010  <0.0010 4 <0.0002 1
ISVRUEDIEEY <0.0002  <0.0002  <0.0002 4 <0.0002 1
29TV RUZDIEEH <0.001 <0.001 <0.001 4 <0.001 1
1,2—9HOAIaY <0.0002  <0.0002  <0.0002 4 <0.0002 1
LTy <0.001 <0.001 <0.001 4 <0.001 1
TRVEEY 2—IFIAFIIL) <0.008 1
HIERE <0.04 <0.04 <0.04 4
ZEEiER
ybonre b= 0.001 <0.001 <0.001 4 0.001 1
faKH05-Ib 0.005 0.002 0.004 4 0.002 1
HREBIER 0.5 0.4 0.4 24 03 0.2 03 12 08 0.6 0.7 12
SR 46 1
1,1,1—tyhonI4ay <0.001 <0.001 <0.001 4 <0.001 1
AFI—t—=FFII—FI (MTBE) <0.001 <0.001 <0.001 4 <0.001 1
AMEGBIVH VBN LEEE) 14 1
R SR5&E (TON) <1 <1 <1 12 <1 <1 <1 12
BRI GYTUTES) -1.3 1
HEREEMR 6 0 3 12 0 0 0 4
1,1—9HOAIFLY <0.0010  <0.0010  <0.0010 <0.0010 1
ANINADADEY AN KV EE(PFOS) RUALINATADE Y ALk EE(PFOA)
JKig(°C) 26.7 8.0 18.1 24 28.8 122 204 12 286 8.2 18.4 12
TPUEZTREER
EMILFRIBRERE(BOD)
LB RERE(COD)
IRV S BE(50mm )L FREF) 0.067 0.028 0.042 12
FEYE(SS)
BRI R
LER
DY)
VVEEATY
FINOAR YA R BE
£ (n/ml)
FIVHIE 380 1
BEBRE
ERAAY
BT




THN4(2022)F B JKEHE #KIRKDKEOKERKBERESR)

[BExEH4A] [(BXEH4A] [BxEH4]

40 - 503 fEREE 40 - 505 fEREE 40 - 506 {EREE

fafE Hh X /K E I Rk E 1 % REMRKERER

[#Ki;H4&] 02 - 00 [§Kiz&] 01 - 00 [%Ki;H4&] 01 - 00

EKRKIEEYR— RKAHEKE EDNIRNFEKE

BEIEH [KiR&] [KiE&] [kiFE&]

BK(ERE) FRESL ERESIZEA L

[FkDFE$E] [FRKDFELE] Rk DFEEE]

Bk [RKZK EIN i

[1 B FE#i5KE] 21,754 (m) |[1 B FE5%KE] 23,108 (m) |[1 B F5KE] 7,938 (m)

#a7kieK #hKiEK #hKEK

) =IE T B bl =xIE Ty Bl xm =IE T Ik

TUFEVRUEDILEY <0.0002  <0.0002  <0.0002 4 <0.0010 1
DIV RUEDILEY <0.0002  <0.0002  <0.0002 4 <0.0002 1
VT RUZDIEED <0.001 <0.001 <0.001 4 <0.001 1
1,2—YhOnIsYy <0.0002  <0.0002  <0.0002 4 <0.0004 1
LTy <0.001 <0.001 <0.001 4 <0.001 1
TRVEEY 2—IFIAFIIL) <0.008 <0.008 <0.008 4 <0.006 1
HIERE <0.06 <0.06 <0.06 2
ZEEiER
ybonre b= <0.001 <0.001 <0.001 4 <0.001 <0.001 <0.001 2 0.004 1
fkoo3-Ib <0.002 <0.002 <0.002 4 0.002 <0.002 <0.002 2 <0.002 1
REE <1.00 1
HREBIER 0.8 06 0.7 12 0.7 0.4 0.6 12 0.7 0.5 0.6 12
SR 6.1 3.0 44 4 20 1
1,1,1—kHoonIay <0.001 <0.001 <0.001 4 <0.001 1
HAFI—t—FFII—TIL(MTBE) <0.001 <0.001 <0.001 4 <0.002 1
AMEGBIVH VBN LEEE) 0.7 05 0.6 4 40 1
R SR5&E (TON) <1 <1 <1 12 <1 1
BRI GYTUTES) -09 -15 -12 4 -20 1
HEREEMR 0 0 0 4 2 1 0 1
1.1—=YHOAIFLY <0.0010  <0.0010  <0.0010 4 <0.0005 1
RVINATADEY 2RV EE(PFOS)RUAILINAOADEY ALK E(PFOA) <0.000005 <0.000005 <0.000005 4 <0.000005 1
KB (°C) 28.0 130 20.2 12 271 10.8 18.0 12 296 10.0 20.1 12
TPUEZTREER
EMILFRIBRERE(BOD)
LB RERE(COD)
IRV S BE(50mm )L FREF) 0.031 0.016 0.020 12
FEYE(SS)
BRI R
L2EXR
DV
VVEEATY
FINOX D5 AR RE
£ (n/ml)
TILHVE 434 36.5 39.7 4
BEBRE
ERAAY
BT




THN4(2022)F B JKEHE #KIRKDKEOKERKBERESR)

[BExEH4A] [BxEH4]
40 - 506 1EMEE -
REMRKERER
[#kiH4] 02 - 00 [%/Ki54]
iR KE
BEIEH [KiR&] [kiFE&]
FREAL
[FRkDFELE] [RkDOFELE]
NLEE
[1BFEHKE] 9,150 (m) |[1 B8k E] (M) [[1BF9:%KE] ()
#a7kieK #hKEK
1) Ty Bl ) =IE iy Ik

TUFEVRUEDILEY <0.0010 1

DIV RUEDILEY <0.0002 1

ZITIVRUZOIEED <0.001 1

1,2—9HOAIaY <0.0004 1

LTy 0.001 1

TRVEEY 2—IFIAFIIL) <0.006 1

HIEREE

ZEEiER

Jhnoye b= ML 0.005 1

faKH05-Ib <0.002 1

REE <1.00 1

HREBIER 0.8 0.6 12

SR 30 1

1,1,1—kHoonIay <0.001 1

AFI—t=TFII-TIL (MTBE) <0.002 1

AMEGBIVH VBN LEEE) 19 1

R SR5&E (TON) <1 1

BRI GYTUTES) -1.8 1

HEREEMR 0 1

1,1—9HOAIFLY <0.0005 1

RVINATADEY 2RV EE(PFOS)RUAILINAOADEY ALK E(PFOA) <0.000005 1

JKig (°C) 274 19.1 2

TPUEZTREER

EMILFRIBRERE(BOD)

LB RERE(COD)

LSMRUVIR I E (50mmtz )L FREE)

FEYE(SS)

BRI R

LER

DY)

VVEEATY

FINOAR YA R BE

£ (n/ml)

TILHVE

BEBRE

ERAAY

BETAEE




